35
00 S 442 e o=f 241, o] A2 oetal ¢l=T

® 35,44 2 @ 035, 9H 42

® 3.05, 4 9o @ 053, 94 24

® 0.035, 94 I




2 21838 gy gol 9= ©971 0.3L 9]
L {17 Fs5HA L.

L

A

2>
=]



459 AL AL

3.

oy ©
L D~

S O



e e e s



Uhee 242 27 Uehd ghs A=A Q.

4 5

(1) 3900 (2)13M
@ (1)3.4 (2)13.5 @ (1)3.4 (2)13.05
® (1)3.04 (2)13.05 @ (1)3.04 (2)13.005

® (1)3.404 (2)13.005



=
H7]
1, 1,
— — 110 71
100~ 1o 1 L1
0.11-& 0.01°] 11 Yyt
87 . 1 ol
100 = 100 [
[ Jeoo010 794t
® 87,87 @ 87,87 ® 87,0.87

@ 8.7,8.7 ® 8.7,0.87



7l ol Jyre 5 AR 2 A4S N2A L.

[ ]-4335-434-[ ]-435

® 4.325,4.345 @ 4.326,4.345 ® 4.327,4.345

@ 4.33,4.345 ® 4.332,4.345



8. AAE st SAL Z GANA 67.24m S BRI et
58.84m S DALY 7} Aot o We) GRen] T L.

@ =4, 8.4m @ 4} 84m ® %7, 8.6m
@ e, 8.6m ® SA, 7.4m



J

0.105
+ 0,231



10. [ Jokof e 55 A2 HEe RS T2Ae
15.333 — 10.666 — 2.888
—[ ]-2888=[ |
® 5.667, 2.779 @ 5.667, 2.778 ® 4.667, 1.779

@ 4.667, 1.778 ® 4.677, 1.779




11. A3 HolA solel7hA= 0.77km 0] 12, 0| Eof| A sta7lz] =
3.089km YUt} 3= Y =olHE AA ohe-& b dy o
73 8]7} shof| Zith Holl 2= A= 2 km A F5HA L.

a'é"I 7km



12. T2 viEA AN e 1EAL.

(1) 29.1+2.34  (2) 17.46 + 1.86

@ (1) 31.35 (2) 19.22 @ (1) 31.44 (2) 19.32
@ (1) 31.35 (2) 19.42 @ (1) 31.44 (2) 19.22

® (1) 31.35 (2) 19.32



(1) 35-1.23 (2) 4.235 - 2.75

@ (1) 1. 22 (2) 1.48 @ (1) 1. 27 (2) 1.485
® (1) 2. 22 (2) 1.482 @ (1) 2. 27(2) 1.485

® (1) 2. 27 (2) 1.487



14. thg 2L B1, A Ao BRAY TE FokAL.

22)9] &3 BE A7} 43.042kg AU Tt thAo]= ox]H ok
2.08kg ] A U7k, 42+= thyolHt} 2.8kg o] ol Lzt
=L e =




15.

Axtet grol 2 AR H Adz 7128 £ A

tlo
k]
|
>,
lo

@ 10.1 - 3.64
© 5.27+1.79
© 8.02-0.55

® ©-0-© @ 0-6-©
@® ©-©-0 ® ®0-0

® 6-6-9




16. The & 5747 ol e 47t b A

O 413.72 @ 74.38

@ 0.075 ® 35.167

2 AL ol



17. g 22 589 7I=E ¥ WA 71 2 258 TEAL (Y,
2 2 Aol 00] 7] eksuh)

L1[][o][3][5]
Be



18.

&gol) obstE] & 59| ol
21 374 AelHo] €2 Eba 2
AL B km A FoHAL.

b km

a

1L

T
—
4

1

AR

3

m

il



19. Q9] A8 27} 3 0|1 24 A 2] A7 9 ¢l SR 20,
341 Bop 2h2 4% T 229 = E /A7t

B e 7H



20. o] ol 285 5 FHIY 5.02 7 ATk ol 1847 <
4 T34 2.

D
=%



